Models of Addition Word Problems

Easy Addition

Easy Addition involves 2 sets of objects (in this case the
set of boys and the set of girls) that are joined together
(the set of children).

Gym
There are 4 boys (RED) and 5
girls (GREEN) in the gym. How
O O C%fD many children altogether(BLUE)
O O O 0O are in the gym?

Hard Addition

Hard Addition involves 2 sets of objects (the children in
the library and the children in the gym) and the
relationship between those two sets (there are 5 more
children in the gym than in the library).

Library

There are 4 children (RED) in the
library. There are 5 more
children (GREEN) in the gym than
there are in the library. How
many children (BLUE) are in the

gym?
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